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INSTRUCTIONS TO CANDIDATES

Your shoald five the following for this examingtion:
Arswer bookler:
Drawing papers size AD:
Drawing fostrimenis,
Answer FIVE of the following EFGHT questions.
All guesiions carry egual marks., . piB A
Maximum marks for cach part of & question are indicated, 5] =
ALL dirmenyiony are fomillimaeters,

Candidates should answer the guestions in English.

This paper consists of 7 printed pages,

Candidaites should check the quostion paper to ascertain that all
the pages are printed as indicated and thal no guestions are missing.
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Construct each of the following angles:

FATE !
Gy 1355
i) 15 (9 marks)

Print each of the following statements in capital leters.

(1) “Come to college tomarmow by 2:00” - inclined
(i)  “¥You got a chance to travel™ . straight {6 marks)
Circumscribe a triangle of sides 60 mm, 50 mm and 70 mm. {5 muarks)
Figure 1 shows a link mechanizm of a machine part. Draw the locus of a point K
along the slide AB, (14 marks)
A
AD = ¥omm
AK = S0mm
o B E AB = T0mm
Fig. 1
Figure I shows 3rd angle orthographic projection of & block, Sketeh the isometric view
of the object taking potnt X as the lowest point. {6 marks)
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B Figure 3 shows a line skeich of a house plan. Using the data given:

{(iy  Redraw the plan o scale of 1:100

(i}  Draw section X-X 1o scale 1:50 (20 muarks)
DATA
Floor slab thickness - 200 mm
Murram blinding . 100 mm
Hardcore - 200 mm
D.PM - S0 gauge polythene
Wall thickness - 200 mm
Openings ¥ OO0 mm j h :
Sl.ripl'm:lling - 600 x 200 [ﬂﬂ}’-.’ Pk -
Depth of foundation - 1000 mm | : .
Dimensions oa figure 3 are intomal ) * JAN 213
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Fig. 3
i, (a)  Draw & pamabola in a rectangle measuring 80 mm by 120) m. {10 marks)
(b} Draw a hexagon given that one of its sides is 40 mm., (& marks)
() Construct a plain seale of 50 mm represent | metre and indicate 1.5 m and 2.1 readings
on il
(5 muarks)
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